Proyecto Guao

AUTOEVALUACION

Producto de un nimero de un vector
OPCIONES DE

PROBLEMA RESPUESTA ORIENTACIONES
Dado el vector #= (45) 1 2.u=(-610) ,NCORRECTO
,calcula:

2.1 2 -
T
2.1 =(-8,10) ‘(77]7 > o
3 2.4 =(-615) ———
4 2.1 =(-311) —
Dado el vector v= (-8,3) 1
,calcula: -2.v=(10,-3) )
2.7 _ERR0 i
2 -2.%=(12,-6) s

4 -2.%=(5-3) x ,NCORRECTO

Dado el vector v= (-35) 1 A\

,calcula: 3.7 =(-9,15) *(_777EZS>'

3.9 ren S acionas
2 3.v=(9,-5

3 3.9=(-53) <f9/w\

4 3.%=(-10,-1)



Dado el vector
,calcula:
3.v

Dado el vector
,calcula:

4.9

Dado el vector
,calcula:
1/3.v

$= (2,5

5= (-3,5)

b= (-46) 1

|

3.% = (—9,10)
3.7 = (—12,18)
3.7 = (—9,5)
3.% = (—9,10)
4.% = (—9,12)
4.% = (—8,20)
4.% = (—12,10)

1/3.% = (=1,5/7)

1/3.% = (-1,5/3)

1/3.% = (=2,3/5)
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K INCORRECT®

9 INCORRECT®
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Dado el
,calcula:
-3.v

Dado el
,calcula:
5.0

Dado el
,calcula:
-3/12.v

vector v = (-4,-5)

vector

vector

5= (-2,6)

b= (-44)

[

=

1/3.% = (4,3/5)

-3.% = (12,15)

-3.% = (12,3/5)

-3.% = (12,15)
-3.% = (4,3/5)

5. = (8,—32)

-5.% = (10, —30)

5.7 = (=8,—12)

-5.% = (9,—30)

-3/2.% = (12,-30)
-3/2.% = (9,—30)

-312.% = (3,-9)

-3/2.% = (6,—6)
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Dado el vector ¥= (-2,3) 1 5/2.7=(-10,—-30)
,calcula:
5/2.v

2 5/2.% = (-515/2)
10.

3 5/2.% = (=5-3)

4 5/2.% = (12,-30)
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